
PRODUCT BULLETIN #427 Page 1 of 3

Dexter Axle Company 2900 Industrial Parkway East Elkhart, IN 46516

Phone: (574) 295-7888 www.dexteraxle.com Fax: (574) 295-8666

Date: October 7, 2020 

Subject: Changes to 3.5K-6K Integral Stainless Steel Disc Brake Kits and Components

Due to low market demand, Dexter has made the decision to discontinue the integral stainless steel disc brakes. These brakes are 
replaced with the hat style (outboard) rotor disc brake kits and will need to be replaced in complete sets when being serviced.

Below is a chart listing the discontinued kits with references to the appropriate kits to use in their place. Also included below is a parts 
breakdown of the hat style stainless steel disc brake kits that are being retained.

Discontinued Integral (Inboard) Stainless Steel Disc Brake Kits

PART NO. DESCRIPTION REPLACE WITH

K71-079-00 3,750 lbs. Zinc Hub & Inboard Stainless Steel Rotor - Alum. Caliper, 1 Wheel (1) K71-811-00 & (1) K08-436-9G

K71-079-02 3,750 lbs. Zinc Hub & Inboard Stainless Steel Rotor - Alum. Caliper, 1 Axle (2) K71-811-00 & (2) K08-436-9G

K71-079-05 3,750 lbs. Zinc Hub & Inboard Stainless Steel Rotor - Alum. Caliper, 1 Wheel, 
Includes Bearings, Seals, Trailer Buddy (1) K71-811-00 & (1) K08-436-9G

K71-088-00 3,750 lbs. Zinc Hub & Inboard Stainless Steel Rotor and Caliper, 1 Wheel (1) K71-812-00 & (1) K08-436-9G

K71-088-02 3,750 lbs. Zinc Hub & Inboard Stainless Steel Rotor and Caliper, 1 Axle (2) K71-812-00 & (2) K08-436-9G

K71-088-05 3,750 lbs. Zinc Hub & Inboard Stainless Steel Rotor and Caliper, 1 Wheel, Includes 
Bearings, Seals, Trailer Buddy (1) K71-812-00 & (1) K08-436-9G

K71-954-00 6,000 lbs. Zinc Hub & Inboard Stainless Steel Rotor - Alum. Caliper, 1 Wheel (1) K71-815-00 & (1) K08-445-96

K71-954-02 6,000 lbs. Zinc Hub & Inboard Stainless Steel Rotor - Alum. Caliper, 1 Axle (1) K71-815-00 & (1) K08-445-96

K71-954-05 6,000 lbs. Zinc Hub & Inboard Stainless Steel Rotor - Alum. Caliper, 1 Wheel, 
Includes Bearings, Seals, Trailer Buddy (1) K71-815-00 & (1) K08-445-96

K74-786-00 6,000 lbs. Zinc Hub & Inboard Stainless Steel Rotor and Caliper, 1 Wheel (1) K71-816-00 & (1) K08-445-96

K74-786-02 6,000 lbs. Zinc Hub & Inboard Stainless Steel Rotor - Stainless Steel Caliper, 1 Axle (1) K71-816-00 & (1) K08-445-96

K74-786-05 6,000 lbs. Zinc Hub & Inboard Stainless Steel Rotor - Stainless Steel Caliper, 1 
Wheel, Includes Bearings, Seals, Trailer Buddy (1) K71-816-00 & (1) K08-445-96

Retained Service Kits for Hat Style (Outboard) Stainless Steel Disc Brake Kits
Individual components may not be available in bulk; components may only be available in service part kits.

3,750 LBS. STAINLESS STEEL ROTOR - ALUM. CALIPER K71-811-00
Fits 1 Wheel UPC 876983006403

DX PART NO. QUANTITY PARTS DESCRIPTION
005-169-00 2 Washer, Banjo
007-299-00 2 Bolt, 7/16-20 X 1.125
007-319-00 1 Bolt, Banjo
034-323-00 1 Fitting, Banjo
054-119-00 1 Screw, Bleeder
059-A34-00 1 Instruction Sheet
070-015-03 1 Rotor, 10.75", Stainless
071-822-00 1 Spacer
089-236-10 1 Caliper, Aluminum



PRODUCT BULLETIN #427 Page 2 of 3

Dexter Axle Company 2900 Industrial Parkway East Elkhart, IN 46516

Phone: (574) 295-7888 www.dexteraxle.com Fax: (574) 295-8666

3,750 LBS. STAINLESS STEEL ROTOR AND CALIPER K71-812-00
Fits 1 Wheel UPC 876983006410

DX PART NO. QUANTITY PARTS DESCRIPTION
005-169-00 2 Washer, Banjo
007-299-00 2 Bolt, 7/16-20 X 1.125
007-319-00 1 Bolt, Banjo
034-323-00 1 Fitting, Banjo
054-119-00 1 Screw, Bleeder
059-A34-00 1 Instruction Sheet
070-015-03 1 Rotor, 10.75", Stainless
071-822-00 1 Spacer
089-009-20 1 Caliper, Stainless Steel

6,000 LBS. STAINLESS STEEL ROTOR - ALUM. CALIPER K71-815-00
Fits 1 Wheel UPC 876983006441

DX PART NO. QUANTITY PARTS DESCRIPTION
005-169-00 2 Washer, Banjo
007-299-00 2 Bolt, 7/16-20 X 1.125
007-319-00 1 Bolt, Banjo
034-323-00 1 Fitting, Banjo
054-119-00 1 Screw, Bleeder
059-A34-00 1 Instruction Sheet
070-021-10 1 Rotor, 12", Stainless
004-086-01 1 Caliper Mounting Bracket
089-236-10 1 Caliper, Aluminum

6,000 LBS. STAINLESS STEEL ROTOR AND CALIPER K71-816-00
Fits 1 Wheel UPC 876983006458

DX PART NO. QUANTITY PARTS DESCRIPTION
005-169-00 2 Washer, Banjo

007-299-00 2 Bolt, 7/16-20 X 1.125

007-319-00 1 Bolt, Banjo

034-323-00 1 Fitting, Banjo

054-119-00 1 Screw, Bleeder

059-A34-00 1 Instruction Sheet

070-021-10 1 Rotor, 12", Stainless

004-086-01 1 Caliper Mounting Bracket

089-009-20 1 Caliper, Stainless Steel



PRODUCT BULLETIN #427 Page 3 of 3

Dexter Axle Company 2900 Industrial Parkway East Elkhart, IN 46516

Phone: (574) 295-7888 www.dexteraxle.com Fax: (574) 295-8666

3,700 LBS. IDLER HUB, ZINC, 5 ON 4.50" BC K08-436-9G
Fits 1 Wheel UPC 876983017010

DX PART NO. QUANTITY PARTS DESCRIPTION
008-436-04 1 Idler Hub

010-172-00 1 Seal, 1.68" ID x 2.56" OD

010-019-00 1 Seal, 1.72" ID x 2.56" OD

031-031-02 1 Bearing Cone, L44649

031-033-02 1 Bearing Cone, L68149

021-112-00 1 Trailer Buddy, 1.980 - Indicator

021-083-00 1 Trailer Buddy Bra, 19B

006-080-00 5 Nut, Cone

6,000 LBS. IDLER HUB, ZINC, 6 ON 5.50" BC K08-445-96
Fits 1 Wheel UPC 876983017034

DX PART NO. QUANTITY PARTS DESCRIPTION
008-445-13 1 Idler Hub

010-036-00 1 Seal, 2.25" ID x 3.376" OD

010-019-00 1 Seal, 2.13" ID x 3.376" OD

031-030-02 1 Bearing Cone, 25580

031-029-02 1 Bearing Cone, 15123

021-127-00 1 Trailer Buddy, 2.441 - Indicator

021-134-00 1 Trailer Buddy Bra, 23B

006-080-00 6 Nut, Cone

Please contact your Dexter account manager for additional details, ordering, availability, or other questions. Not all products may be 
available at all plants. 

Jay Klinkerman
Market Manager


